B European B_T_Ch_ SENIORS ( 8_15)

IRELAND VS FRANCE
IRELAND | FRANCE | FRANCE | IRELAND

N|{ COMYN |E |PIGANEAUIN | STOPPA |E | GLYNN
S|J_MORAN(W| PY |S|STRETZ |W|SCANNELL
BoardfContract | by |M|D| N-S|E-WJContract| by |M|{D| N-S|E-W} IMPs
150 |S| |3 150§ 44X |W| [2]300 10
2] 5% (W| (1| 50 56 |W| |1| 50 - | -
3] 44 (W|4 620] 44 (W |4 620 - | -
4 I3NT |[N| (2 200 49 [S| |2 2008 - | -
5 J2NT | S|3]| [150 3NT | S |3| |600 10
6] 44 (E|6 680] 64 |[E |6 14304 13
7 | 3NT [N |4| [630 3NT | S |5]| |660 1
81 40 |(W|4 4204 49 |(W| [1]| 50 10
9 |1INT |E |4 180] INT |E |4 180 - | -
10} 3¢ |E (4 130 3¢ |E |4 1308 - | -
11] 26 |W|2 110} 24 (E |2 110§ - | -
12 24 |E| [3|150 39 [S|4| [170 1
I3 3NT |[N| (2 200f 44 [N |5| |650 13
141 INT |E |1 90f 20 |W|3 110f 1
IS5 3NT | S |3| |600 3NT | S |3| |600 - | -
16 4% |[N| (2 100§ 54 |W| [1]100 5
14|50
IMPs IRELAND FRANCE
This segment 14 50
Penalty o) o)
Carryover 0] 0]
Total 14 50
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B European B_T_Ch_ SENIORS ( 8_15 ) IRELAND vs FRANCE
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5% by W, down 1,EW -50
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(N-S)IRELAND (E-W)FRANCE
(W)PY (N)COMYN (E)PIGANEAU (S)J_MORAN

W N E S O AO 30 Q
l1a P O KO JO 8O 5
2i2izsed
2# P 3& P &
Q5P A K
39 P 3 P & Tde 3O 4 A
5& P P P

= 5& by W, down 1,EW -50
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= 5& by W, down 1,EW -50
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44 by W, making 4, EW 620
44 by W, making 4,EW 620
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= 44 by W, making 4, EW 620
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= 44 by W, making 4, EW 620
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3NT by N, down 2, NS -200
49 by S, down 2, NS -200
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= 3NT by N, down 2, NS -200
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= 49 by S, down 2, NS -200
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3NT by S, making 3, NS 600

(N-S)IRELAND (E-W)FRANCE
(W)PY (N)COMYN (E)PIGANEAU (S)J_MORAN

W N E S LY
P P 1$

le X 246 P

P X P 2N

P P P

= 2NT by S, making 3, NS 150
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3NT by S, making 3, NS 600
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44 by E, making 6,EW 680
64 by E, making 6,EW 1430
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= 44 by E, making 6,EW 680

(N-S)IRELAND (E-W)FRANCE
(W)SCANNELL (N)STOPPA (E)GLYNN (S)STRETZ

& Ade 3 O 2
al

W N E S

le P

4% P 4N P

5¢ P 64 P
P P

= 64 by E, making 6,EW 1430
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= 3NT by S, making 5, NS 660
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= 3¢ by E, making 4,EW 150
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= 24 by E, down 3, EW -150
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